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(3) i ARG RE pow (x, ) ITHE x¥ FME , 1 B2 AL S 3k S math.h,
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(1) %5 B4 float Convert(float TempFer) , 28 F1iR [BI{E A N float ZFSAY, 52 B A ¥k
C=(F—32) *5/9,7F main( ) BRECP M A . ¥4 . 1lab3 1.cpp.

(2) 534S 4 1R 45 PREL max1, S R 28, 78 mainCO) sRECT N R B BE . 7
%4 : lab3_2.cpp.

(3) 7£ main ( ) R B 2 7- g AP B8 x oy, 1 cin @ A)15 3 x oy WA, W H]
pow(x, ) EREITE x 1 y REMEE R, HE sHk, BFL: lab3_4.cpp.

(4) Hi'’5 3B H REL int fib (int n) . 76 EBJF A n B9E 8 H fib k%15 Fibonacci
BEC, NFE K fib(n) ={ib(n—1)+{ib(n—2) ,n>2; {ib(1) ={ib(2) =1 ;8 A if 1& ] H W7 R
s 0 ERR I H T cout IE/—ﬁﬁ‘JtHTEFTE . *If?@~ lab3_5.cpp.

(5) f#i [l Debug HHY Step Into i & E pREL B, W BT SR .S ERFUT .

//1lab3_5

#include <iostream>

N

using namespace std;

int fib(int n);
int main ()
{
int n, answer;
cout<<"Enter number: ";
cin>>n;
cout<<"\n\n";
answer=fib(n);
cout<<answer<<" is the "<<n<<"the Fibonacci number\n";

return 0;

int fib (int n)

cout<<"Processing fib("<<n<<") ... ";
if (n<3)
{
cout<<"Return 1!\n";
return (1);
}
else
{

cout<<"Call fib("<<n-2<<") and fib("<<n-1<<") .\n";
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return( fib(n-2) +fib(n-1));

}
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#include <iostream>
using namespace std;
int main ()
{

int intOne;

int &rSomeRef=intOne;

intOne=5;

cout<<"intOne: \t"<<intOne<<endl;
cout<<"rSomeRef: \t"<<rSomeRef<<endl;
cout<<"g&intOne: \t" << &intOne<<endl;

cout<<"grSomeRef: \t"<< &rSomeRef<<endl;

int intTwo=8;

rSomeRef=intTwo; //not what you think!
cout<<"\nintOne: \t"<<intOne<<endl;
cout<<"intTwo: \t"<<intTwo<<endl;
cout<<"rSomeRef: \t"<<rSomeRef<<endl;
cout<<"g&intOne: \t" << &intOne<<endl;
cout<<"&intTwo: \t" << &intTwo<<endl;
cout<<"grSomeRef: \t"<< &rSomeRef<<endl;
return 0;

}
P iz A7t CFEAN TR B AL b Bz 47 i ik 7T BB Br A A

intOne: 5

rSomeRef: 5
&intOne: 0012FF7C
&rSomeRef: 0012FF7C
intOne: 8

intTwo: 8

rSomeRef: 8

&intOne: 0012FF7C
&intTwo: 0012FF74
&rSomeRef: 0012FF7C
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#include <iostream>

using namespace std;

typedef unsigned short int USHORT;
short int divide (USHORT a, USHORT b)
{
if (b==0)
return -1;
else

return a/b;

int main()
{
USHORT one, two;
short int answer;
cout<<"Enter two numbers.\n Number one: "
cin>>one;

cout<<"Number two: "
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cin>>two;
answer=divide (one, two);
if (answer >-1)
cout<<"Answer: "<<answer;
else
cout<<"Error, can't be divided by zero!";
return 0;

}
e as A i

Enter two numbers.
Number one: 8
Number two: 2

Answer: 4
3-8 g’ R B AR TR B e o B IR B A
5
C—E(F—BZ)
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#include <iostream>
#include <cmath>

using namespace std;
int prime(int 1i); / /N — A~ BN 2 5B PR AL

int main ()
{
int i;
cout<< "y A — . ;
cin>>1i;
if (prime(i))
cout<<i<<"JEAN."<<endl;
else
cout<<i<<"ANEFH . "<<endl;

return 0;
int prime(int i)
int j, k, flag;

flag=1;
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k=sqgrt(i);
for (J=2; j<=k; j++)
{
if(i%3J==0)
{
flag=0;

break;

return flag;

}
RFBITH W .

WA — A 1151
1151 JEJR%L.
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#include <iostream>
#include <cmath>

using namespace std;
int fnl(int i, int j); / /3R B KN LB pR R

int main()

{
int i, 3, %,y
cout<< " A —NIEREE: ;
cin>>1 ;
cout<<"iHHI A G — N IEEE: ;

cin>>3 ;

x=£fnl(i,J);
y=1i*3 /x;

cout<<i<<"Flm<< << "ME KN Y "< x<<endl;

B
cout<<i<<"HlIm<< << "ME/NAEEE . "<<y<<endl;

return 0;

int fnl(int i, int j)

int temp;

if (i<9)
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temp=1 %7j;
i=3;
Jj=temp;

}

return i;

}
e P as A7 i
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fi# .

#include <iostream>
#include <cmath>

using namespace std;
int fnl(int i);

int main ()
{
int i;
cout<< "IHH A —IEBE:

cin>>1;

cout<<"M 1 BIIF] " <<i<<"BYFIN : "<<fnl(i)<<endl;

return 0;

int fnl(int i)
{
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if (i==1)
return 1;
else
return i +fnl(i -1);

}
REFPIs 7k i
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1 (n=0)
p.(x)=1x (n=1)
(Cn—DXaXp, ()= —DXp, (x))/n (n>1)
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#include <iostream>

using namespace std;
float p(int n, int x);

int main ()
{
int n, x;
cout<<"iHi ATE#E n: m;
cin>>n;
cout<< "y ATE B x: ;

cin>>x;

cout<<"n="<<n<<endl;
cout<<"x="<<x<<endl;
cout<<"P"<K<n<< "M ("< x<< ") ="<<p(n, x)<<endl;

return 0;

float p(int n, int x)
{
if (n==0)

return 1;



else if (n==1)
return x;
else
return ((2¥n-1) *x*p(n-1,x) -(n-1) *p(n-2,x)) /n;
}

REFP Iz 7k il

A ES M n: 1
A TEEEL = 2
n=1

x=2

P1(2)=2

i A IE S840 n: E
T A IEH L x: 4
n=3

x=4

P3(4)=154

3-15 %5 H R getPower THIAL x¥ 7R [R] — A J7 R B X o 7R 0 52 78 S B 7 4 T 3
F14 PRI -

int getPower (int x, int y); //EERES, 2 y<o i, 3R [F 0
double getPower (double x, int y); / /SR 2

TE EFRIT b 52 B A g L 43 A A — R o A SO AR R, R A —
Bom VERIRE S o Fom . FAMERE EE IRV getPower BREITH o™ B &
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#include <iostream>

using namespace std;

int getPower (int x, int y);

double getPower (double x, int vy);

int main ()
{
int iNumber, power;
double dNumber;
int iAnswer;
double dAnswer;
cout<<"Enter an int base number: ";
cin>>iNumber;

cout<<"Enter a double base number: ";
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cin>>dNumber;

cout<<"To what power?";

cin>>power;

iAnswer=getPower (iNumber, power) ;

dAnswer=getPower (dNumber, power) ;

cout<<iNumber<<" to the "<<power<<"the power is " <<iAnswer<<endl;
cout<<dNumber<<" to the "<<power<<"the power is " <<dAnswer<<endl;

return 0;

int getPower (int x, int y)

return x;
else if(y==0)

return 1;
else 1if(y<0)

return 0;
else

return (x* getPower(x,y-1));

double getPower (double x, int y)
{
if(y==1)
return x;
else 1f(y==0)
return 1;
else 1f(y<0)
return 1/ getPower (x, -y);
else
return (x * getPower (x,y-1));

}
WSRAEV ] getPower PRETI o I Ay B B — S SERUZE R, ol LUK o 58 ] 5% 45 o

double & HI ,
dAnswer=getPower ((double) iNumber, power) ;
v is i .

Enter an int base number: 3

Enter a double base number: 3.5
To what power? 4

3 to the 4 the power is 81

3.5 to the 4 the power is 150.0625
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